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CONFIDENTIAL

P5127 BUSINESS FINANCE

INSTRUCTION:

This section consists of FOUR (4) questions.

Answer ALL the questions in the answer booklet.

QUESTION 1

a)

b)

SMN Company Limited desired to expand its business operations in the south of
the country. In order to sustain the business, the company has offered a bond to
the public. The par value of bon is RM1800. Return of the bonds is 9% with 12%
coupon rate paid annually. Maturity period is 15 years. The market value of the

SMN Company Limited bond is RM1860.

i) Determine the value of the bonds

(3 marks)

i) Should investors invest in this bond? Comment on your findings.
(2 marks)

Makmur Company is considering investing into a common stock. Following

information is for each ordinary share.

Stock A Stock B Stock C
Probability | Return | Probability | Return | Probability | Return
0.20 10% 0.30 8% 0.25 9%
0.60 13% 0.40 15% 0.35 12%
0.20 20% 0.30 19% 0.40 15%
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CONFIDENTIAL P5127 BUSINESS FINANCE

Based on the given information,

i) Calculate the expected rate of return for each stock

(6 marks)
ii) Calculate the standard deviation of expected returns for each stock

(6 marks)
iii) Calculate the coefficient of variation (CV) for each stock '

(6 marks)

iii) Based on the calculation, which share should be bought by Makmur
Company?
(2 marks)
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QUESTION 2

Harith Corporation is formulating a current asset holding policy to be considered :

Alternative Pez : 70 % of sales
Alternative Qez : 80 % of sales
Alternative Rez : 60 % of sales

Following information is relevant to all alternatives

Sales of RM 6,500,000

Fixed Assets RM 2,500,000

Total liabilities to total assets equal to 60 %
Interest on total liabilities is 5.5 %
Earnings Before Interest and Tax 18 %

Tax rate of 32 %

You are required to provide:

a)

b)

d)

Summary of Balance Sheet for each alternative. ( 6 marks )
Summary of Income Statement for each alternative, ( 6 marks )

Calculation of the net profit margin, return on assets (ROA) and rate of return on

equity (ROE) for each alternative ( 9 marks )

Based on your calculation, which of the position of the company alternative is

more risky? Give your reasons.
(4 marks)
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QUESTION 3

()

(b)

Armieza Bakery is currently producing cup cakes that require 250,000 kg of raw
material every year. The carrying cost is 20% from the purchase price of the
goods. Ordering cost are estimated at RM95.00. Goods are purchased at RM2.00
per unit. The management team has decided to keep safety stock of 15,000 kg.
Company’s regular supplier usually takes 7 days to deliver the stocks to the

company. Assume that the company works 50 weeks in a year.

You are required to calculate:

i) Economic order quantity (4 marks)
i1) Number of orders in a year (4 marks)
iii) Inventory reorder point (7 marks)
iv) Average inventory (4 marks)

Briefly explain THREE (3) reasons why inventory management is important.
(6 marks)
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QUESTION 4

P5127 BUSINESS FINANCE

Rayyan Trading is considering these two mutually exclusive projects which

required an initial outlay of RM125,000. Below is the cash flows expected from

each project. The cost of capital is 14%.

Year Project M Project N
1 35,000 30,000
2 35,000 34,000
3 35,000 39,000
& 35,000 44,000
5 35,000 50,000
For each project, calculate:
a) Payback period
(7 marks)
b)  Net present value
(12 marks)
¢)  Profitability index
(3 marks)
d) Determine which project should be chosen. Why?
(3 marks)
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